Year One Maths Summer 2 Term Week 7 and over the summer holidays.

Week 7
Let's get confident with numbers.

Count to and across 100, forwards and
backwards, beginning with 0 or 1, or from any
given number,

To count in steps of and groups of 2, 5 and 10.

To use multiples to solve number problems
(to count in groups of or steps of 2,5,10).
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What you can do with your child: ©

Challenge your child to count on from any given number to another.
Check they clearly say the number correctly especially 10, 20, 30
etc.

Use the BBC Daily Lessons (Maths) for additional support. The
lessons from 8,9,10 and 11 June link to this objective of counting in
groups/lots of 2, 5 and 10. These lessons usually have a video clip,
game and a challenge. These may be useful for revision over the
summer holiday.
https://www.bbc.co.uk/bitesize/tags/zjpqqp3/year-1-and-p2-
lessons
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Try to work out these word and picture problems using your
super knowledge of counting in steps of 2, 5 and 10.

How many pairs of socks?

There are seven pairs of gloves. Count in twos to find <
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out how many gloves there are altogether.
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How many fingers are there? How will you

work out your answer?

There are seven pairs of gloves and seventy fingers
in total. Did you find the answer by counting in
ones, fives or tens?
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{ I have eight sweets. I put two sweets in each

party bag. How many party bags have I filled?

Think, pair, share.
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I filled four party bags with the eight sweets.
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How many single socks altogether?

There are fourteen pairs of socks.
How many socks are there altogether?

Try the following, it usually helps to draw out your answers.

If you had 5 pairs of socks, how many socks altogether?
How many toes would be in the socks?

Every box of chocolates has 10 chocolates inside. How many
chocolates in total are in 5 boxes?

Sal is making 8 sandwiches. She needs two slices of bread for
each sandwich, how many slices of bread does she need?

Check Vocabulary
Can your child tell you about these
words, what do they mean?

Sock answers - 6

pairs, 12 socks, 14
pairs, 28 socks. 5
pairs of socks -

50 toes - 5 boxes = 50
chocs, 8 sandwiches =
16 slices.

subtraction, addition, equals, total,
number bond, pairs, takeaway,
altogether, plus, single, double




